5. How to ensure that all the neighboring molecules of significance have been considered in the summation? How can the boundary of Lorentz Sphere [the semi micro volume element] be constructed?
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That is, all the dipoles within the Lorentz sphere have been taken
into consideration completely so that what is outside the sphere is
only the continuum regime.
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Thus as more and more dipoles are considered for the discrete summation, The sum
total value reaches a limit and converges. Beyond this, increasing the radius of the
Lorentz sphere does not add to the sum significantly




This is a convergence characteristic which gets more importance in the discussion at the succeeding sheets. Hence at this stage it is important to know the convergence criterion as above. This enables the precise demarcation of the Lorentz sphere from the remaining bulk.

